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M = EOMAENE) x 342, Bl = 6 x r (1930
K, OREOAIE k),
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FEZER = (BOA/360°) x T x F422, BIS = (6/360°) x T x r2 ( SHBHFEIR . O8EDHE
BEL, rh¥R) .
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BIZER = (1/2) x BOAGERE) x #4422, BIS = (1/2) x 6 x r2 (SABFER , 08RO H
M, rAFR) .
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1IEZEREN RILEREN IETERER
sin(x) = opposite / cos(x) = adjacent / tan(x) = opposite / adjacent
hypotenuse hypotenuse
REIEHEN IEEEREl RUIEEE
csc(x) = 1/sin(x) = sec(x) =1/ cos(x) = cot(x) = 1/ tan(x) = adjacent /

hypotenuse / opposite hypotenuse / adjacent opposite
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HIECIR LT FEHELT
sin(x) + sin(y) = 2sin((x+y)/2)cos((x- ¢ I ) @ sin(x)cos(y) = 1/2(sin(x+y) + sin(x-y))
y)/2)

HIETR LT FUEIELT
cos(x) + cos(y) = 2cos((x+y)/2)cos((x- cos(x)sin(y) = 1/2(sin(x+y) - sin(x-y))
y)/2)
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sin(2x) = 2sin(x)cos(x) , cos(2x) =

cos2(x) - sin2(x)

S
FMR=ARERIFAAT , Fsin(2x)

Flcos(2x) > BIFR< SIsin(x+x)F1
cos(x+x) , FH—K AR BRI
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sin(x/2) = +V[(1-cos(x))/2] , cos(x/2) = +V[(1+cos(x))/2]
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Ha>b, M-a<-b;FHa<
b, M-a > -b,
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BRAFAIIN, BiEa > b
Hc>d,Wa+c>b +d,
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| - [b] < a + b] < [a] + [b],
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